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 dsoy vH;kl gsrq uewuk ç'u i= 

Sample Question Paper for Practice only 
gk;j lsds.Mjh ijh{kk −2025 

Higher Secondary Examination −2025 

fo"k; − mPp xf.kr 

Subject Name −Higher Mathematics 
(Hindi & English Versions) 

Total Questions Total Printed Pages Time Maximum Marks 

23 13 3 Hour 80 
 

funsZ'k :  
      ¼i½ lHkh ç'u vfuok;Z gSaA 

 

¼ii½ ç'u la[;k 1 ls 5 rd ds miç'u çR;sd 1 vad ds gSaA 

 

¼iii½ ç'u la[;k 6 ls 15 rd çR;sd 2 vad ds gSaA 

 

¼iv½ ç'u la[;k 16 ls 19 rd çR;sd 3 vad ds gSaA 

 

¼v½ ç'u la[;k 20 ls 23 rd çR;sd 4 vad ds gSaA 

 
Instructions % 

 (i) All questions are compulsory. 

 (ii) Sub-questions of Question numbers 1 to 5 carry 1 mark each. 

 (iii) Question numbers 6 to 15 carry 2 marks each. 

 (iv) Question numbers 16 to 19 carry 3 marks each. 

  (v) Question numbers 20 to 23 carry 4 marks each. 
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(1)  lgh fodYi pqudj fyf[k, :         1x6=6 

             𝑖) ;fn 𝐴 = {1,2,3} gks rks vo;o (1,2) okys rqY;rk laca/kksa dh la[;k gS & 

𝑎)  0    𝑏) 1   𝑐) 2   𝑑) 3 

   𝑖𝑖) 𝑠𝑖𝑛−1
 dh eq[; 'kk[kk dk ifjlj gS& 

𝑎) (0, 𝜋)   𝑏) [−
𝜋

2
,

𝜋

2
] 

𝑐)  𝑅    𝑑) (0,2𝜋) 

     

   𝑖𝑖𝑖) ;fn 𝐴 = [
3 1

−1 2
]  gS] rks 𝐴2

 dk eku gS & 

𝑎) [
3 −1
1 2

]   𝑏) [
10 5
−5 3

] 

𝑐) [
6 2

−2 4
]   𝑑) [

−3 1
−1 −2

] 

 

  𝑖𝑣) ;fn |
𝑥 2

18 𝑥
| = |

6 2
18 6

| gks rks 𝑥 cjkcj gS%  

 

𝑎)  6    𝑏)  ± 6  𝑐)  − 6  𝑑) 0  

𝑣) ;fn nks lfn'kksa 𝑎⃗ rFkk 𝑏⃗⃗ ds chp dk dks.k 𝜃 gS ,oa 𝑎⃗. 𝑏⃗⃗ = 0, rc 𝜃 cjkcj gS & 

𝑎)  1    𝑏)  
𝜋

4
   𝑐)  

𝜋

2
   𝑑) 𝜋 

    

  𝑣𝑖) og fcUnq ftlls js[kk 𝑟 = −𝑖̂ + 2𝑘̂ + 𝜇(4𝑖̂ + 4𝑗̂ + 4𝑘̂) xqtjrh gS & 

𝑎) (−1,2,0)   𝑏) (4,4,4)  𝑐) (0,0,0)  𝑑) (−1,0,2) 

 

Choose and write correct option -  

   𝑖) If 𝐴 = {1,2,3} then number of equivalence relation with element (1,2) is& 

𝑎)  0            𝑏)  1   𝑐)     2  𝑑) 3 
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𝑖𝑖) Range of principal value of 𝑠𝑖𝑛−1 is 

𝑎) (0, 𝜋)   𝑏)[−
𝜋

2
,

𝜋

2
] 

𝑐)𝑅    𝑑)(0,2𝜋) 

𝑖𝑖𝑖) If 𝐴 = [
3 1

−1 2
] then value of s 𝐴2

 is 

𝑎)  [
3 −1
1 2

]  𝑏) [
10 5
−5 3

] 

𝑐) [
6 2

−2 4
]   𝑑) [

−3 1
−1 −2

] 

  

𝑖𝑣) If |
𝑥 2

18 𝑥
| = |

6 2
18 6

| then value of 𝑥 is 

   

𝑎)  6           𝑏)  ±6  𝑐)      -6  𝑑)  0 
  

𝑣) If angle between  𝑎 ⃗⃗⃗ ⃗and 𝑏⃗⃗ is 𝜃 and 𝑎⃗. 𝑏⃗⃗ = 0, then 𝜃  is equal to& 

𝑎)  1           𝑏)  
𝜋

4
  𝑐)      

𝜋

2
  𝑑)  𝜋 

 

𝑣𝑖) The point through which the line 𝑟⃗⃗⃗ = −𝑖̂ + 2𝑘̂ + 𝜇(4𝑖̂ + 4𝑗̂ + 4𝑘̂) passes is − 

𝑎) (−1,2,0)  𝑏) (4,4,4)  𝑐) (0,0,0)   𝑑) (−1,0,2) 

  (2)  fjDr LFkkuksa dh iwfrZ dhft, &        1x6=6 

 𝑖) leqPp; 𝐴 ij ifjHkkf"kr laca/k 𝑅 … … … dgykrk gS ;fn izR;sd 

𝑎 ∈ 𝐴 ds fy, (𝑎, 𝑎) ∈ R  

𝑖𝑖)  ;fn 𝐸 ,oa 𝐹 Lora= ?kVuk, gS 𝑃(𝐹) ≠ 0 rks 𝑃(𝐸 ∣ 𝐹) =  … … .. 

𝑖𝑖𝑖) ;fn 𝐴 ,d fo"ke lefer vkO;wg gS rks  𝐴 =  … … .. 

𝑖𝑣) ;fn dksÃ oxZ vkO;wg vO;qRØe.kh; gS rc |𝐴| =……gSA 

𝑣) 𝑙𝑜𝑔|𝑠𝑒𝑐𝑥| dk vodyu xq.kkad………gSA 

𝑣𝑖) Qyu 𝑓 ds çkar esa ,d fcUnq 𝑐 ftl ij 𝑓′(𝑐) = 0 Qyu 𝑓 dk… . . … ..fcUnq     

dgykrk  gSSA          
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 Fill in the blanks - 

  i)  Relation 𝑅 defined on set A  for every 𝑎 ∈ 𝐴 (𝑎, 𝑎) ∈ 𝑅 then relation 𝑅 is called…… 

ii) If 𝐸 and 𝐹  are independent events, 𝑃(𝐹) ≠ 0 then 𝑃(𝐸 ∣ 𝐹) =  … … .. 

iii) If  A is a skew symmetric matrix then A =  … …… 

iv) If A is a square non invertable matrix  then |A| is . . . . . . . .. 

v) Differential coefficient  of 𝑙𝑜𝑔|𝑠𝑒𝑐𝑥| is … … 

vi) A point 𝒄 in the domain of a function 𝑓 at which 𝑓′(𝑐) = 0 is called 

         a … … . point of the function 𝑓. 

(3)  lR;@vlR; fyf[k, &         1x6=6 

   i) 𝑓 (𝑥) =  2𝑥 }kjk iznRr Qyu 𝑓: 𝑁 →  𝑁 ,dSdh gSA 

ii) fdlh rRled vkO;wg ds fod.kZ ds lHkh vo;o leku gksrs gSA 

iii) 𝑓 (𝑥) = |𝑥| }kjk iznRr Qyu larr gksrk gS A 

iv) 𝑐𝑜𝑡−1(√3) 
dk eq[; eku 

3𝜋

6
 gSA 

 v) vody lehdj.k 
dy

dx
= 𝑒𝑥+𝑦

 dk O;kid gy 𝑒𝑥 + 𝑒−𝑦 = 𝐶 gSSA 

vi) pkj dksfV okys fdlh vody lehdj.k ds O;kid gy esa mifLFkr LosPN vpjksa dh  

   la[;k 4 gksrh gSA               

 𝐖𝐫𝐢𝐭𝐞 𝐭𝐫𝐮𝐞 𝐚𝐧𝐝 𝐟𝐚𝐥𝐬𝐞 -  

i)  The function 𝑓: 𝑁 →  𝑁 given by 𝑓 (𝑥) =  2𝑥 is one − one. 

ii) All the elements of the diagonal of an identity matrix are equal. 

iii) The function given by𝑓 (𝑥) = |𝑥| is continuous. 

iv) Principal value of 𝑐𝑜𝑡−1(√3) is 
3𝜋

6
 

v)The differential equation 
dy

dx
= 𝑒𝑥+𝑦 has a general solution 𝑒𝑥 + 𝑒−𝑦 = 𝐶 

vi)The number of arbitrary constants present in the general solution of a differential  

equation of order four is 4.                                                                                               

 



5 
 

  

     (4)  lgh tksM+h cukb;s &         1x7=7 

       LrEHk v         LrEHk c 
i) ∫ 𝑡𝑎𝑛𝑥 𝑑𝑥 a) 

𝑥

 2
√𝑥2 + 𝑎2 +

𝑎2

2
 𝑙𝑜𝑔|𝑥 + √𝑥2 + 𝑎2| + 𝑐 

ii) ∫
1

√𝑥2−𝑎2
 𝑑𝑥 b)  𝑙𝑜𝑔|𝑠𝑒𝑐𝑥 + 𝑡𝑎𝑛𝑥| + 𝑐 

iii) ∫
1

√𝑎2−𝑥2
 𝑑𝑥 c)  𝑙𝑜𝑔|𝑠𝑒𝑐𝑥| + 𝑐 

iv) ∫ √𝑥2 + 𝑎2 𝑑𝑥 d) 
1

2𝑎
 𝑙𝑜𝑔 |

𝑎+𝑥

𝑎−𝑥
| +c 

v) ∫ 𝑠𝑒𝑐𝑥 𝑑𝑥 e) 𝑠𝑖𝑛−1 𝑥

𝑎
 +c 

vi) ∫
1

𝑎2−𝑥2
 𝑑𝑥 f) 

𝑥

 2
√𝑥2 − 𝑎2 −

𝑎2

2
 𝑙𝑜𝑔|𝑥 + √𝑥2 − 𝑎2| + 𝑐 

vii) ∫ √𝑥2 − 𝑎2 𝑑𝑥 g)  𝑙𝑜𝑔|𝑥 + √𝑥2 − 𝑎2|+c 

 

Match the correct column - 

     𝐶𝑜𝑙𝑢𝑚𝑛 𝐴           𝐶𝑜𝑙𝑢𝑚𝑛 𝐵 

i. ∫ 𝑡𝑎𝑛𝑥 𝑑𝑥 a) 
𝑥

 2
√𝑥2 + 𝑎2 +

𝑎2

2
 𝑙𝑜𝑔|𝑥 + √𝑥2 + 𝑎2| + 𝑐 

ii. ∫
1

√𝑥2−𝑎2
 𝑑𝑥 b) 𝑙𝑜𝑔|𝑠𝑒𝑐𝑥 + 𝑡𝑎𝑛𝑥| + 𝑐 

iii. ∫
1

√𝑎2−𝑥2
 𝑑𝑥 c) 𝑙𝑜𝑔|𝑠𝑒𝑐𝑥| + 𝑐 

iv. ∫ √𝑥2 + 𝑎2 𝑑𝑥 d) 
1

2𝑎
 𝑙𝑜𝑔 |

𝑎+𝑥

𝑎−𝑥
| +c 

v. ∫ 𝑠𝑒𝑐𝑥 𝑑𝑥 e) 𝑠𝑖𝑛−1 𝑥

𝑎
 +c 

vi. ∫
1

𝑎2−𝑥2
 𝑑𝑥 f) 

𝑥

 2
√𝑥2 − 𝑎2 −

𝑎2

2
 𝑙𝑜𝑔|𝑥 + √𝑥2 − 𝑎2| + 𝑐 

vii. ∫ √𝑥2 − 𝑎2 𝑑𝑥 g) 𝑙𝑜𝑔|𝑥 + √𝑥2 − 𝑎2|+c 
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(5) ,d okD;@'kCn esa mRrj fyf[k, &       1x7=7 

 i)∫ 𝑠𝑖𝑛2𝑥  𝑑𝑥 dk eku fyf[k,A 

 ii) vody lehdj.k 
𝑑𝑦

𝑑𝑥
+ (𝑠𝑖𝑛𝑥)𝑦 = 𝑐𝑜𝑠𝑥 dk lekdyu xq.kd fyf[k,A  

   iii) vody lehdj.k (
𝑑2𝑦

𝑑𝑥2
)3 + (

𝑑𝑦

𝑑𝑥
)

2
+ 𝑠𝑖𝑛 (

𝑑𝑦

𝑑𝑥
) + 1 = 0 dh ?kkr fyf[k,A 

                  iv) 𝑓(𝑥) = 𝑥2   , 𝑥 ∈ 𝑅 ls iznRr Qyu 𝑓 dk fuEure eku fyf[k,A 

  v) lfn'k 𝑎⃗= 𝑖̂ − 2𝑗̂ dk ekikad fyf[k,A 

                    vi) ;fn 𝑎⃗ =  2𝑖̂ − 𝑗̂ , 𝑏⃗⃗ = 𝑖̂ + 2𝑗 ̂rks  𝑎⃗ × 𝑏⃗⃗ dk eku fyf[k,A 

vii) ;fn 𝐸 rFkk 𝐹 nks Lora= ?kVuk,a gks rc P(E ∩ F) dk eku D;k gksxk? 

 

𝐖𝐫𝐢𝐭𝐞 𝐚𝐧𝐬𝐰𝐞𝐫 𝐢𝐧 𝐨𝐧𝐞 𝐰𝐨𝐫𝐝/𝐬𝐞𝐧𝐭𝐞𝐧𝐜𝐞  - 

i. Write the value of ∫ 𝑠𝑖𝑛2𝑥  𝑑𝑥. 

ii. Write the integrating factor of the differential equation 
𝑑𝑦

𝑑𝑥
+ (𝑠𝑖𝑛𝑥)𝑦 =

𝑐𝑜𝑠𝑥. 

iii. Write the degree of the differential equation (
𝑑2𝑦

𝑑𝑥2)3 + (
𝑑𝑦

𝑑𝑥
)

2
+

𝑠𝑖𝑛 (
𝑑𝑦

𝑑𝑥
) + 1 = 0. 

iv. Write the minimum value of  function 𝑓  given by 𝑓(𝑥) = 𝑥2   , 𝑥 ∈ 𝑅 

v. Write the modulus of the vector  𝑎⃗= 𝑖̂ − 2𝑗̂. 

vi. If 𝑎⃗ =  2𝑖̂ − 𝑗̂ , 𝑏⃗⃗ = 𝑖̂ + 2𝑗 ̂then write the value of  𝑎⃗ × 𝑏⃗⃗ 

vii. If 𝐸 and 𝐹 are two independent events, then what will be value of 𝑃(𝐸 ∩ 𝐹) 

 

  (6) fl) dhft, fd çk—r la[;kvk dss leqPp; 𝑁 esa 𝑅 = {(𝑥, 𝑦): 𝑦 = 𝑥 + 5 rFkk 𝑥 < 4} }kjk 

  iznRr laca/k 𝑅 u rks lefer gS] u rks LorqY; gS vkSj u ladzked gSA                   2 
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Prove that the relation given by a𝑅 = {(𝑥, 𝑦): 𝑦 = 𝑥 + 5 aand 𝑥 < 4}  in the set of 

natural numbers 𝑁 is neither symmetric nor reflexive nor transitive. 

 

vFkok@OR 

fl) dhft, fd 𝑓(𝑥) =
1

𝑥
   }kjk ifjHkkf"kr Qyu 𝑓: 𝑅∗ → 𝑅∗,dSdh rFkk vkPNknd gS 

tgka 𝑅∗lHkh v'kwU; okLrfod la[;kvksa dk leqPp; gSA 

   

Prove that the function defined by 𝑓(𝑥) =
1

𝑥
 , 𝑓: 𝑅∗ → 𝑅∗is one-one and onto 

where  𝑅∗  is the set of all nonzero real numbers. 

 

 (7)  fn, x;s Qyu dks ljyre :i esa fyf[k,A        2 

         𝑡𝑎𝑛−1 (
𝑐𝑜𝑠𝑥

1−𝑠𝑖𝑛𝑥
) ,

−3𝜋

2
< 𝑥 <

𝜋

2
 

 

Write given function in the simplest form                                                                 
 

   𝑡𝑎𝑛−1 (
𝑐𝑜𝑠𝑥

1−𝑠𝑖𝑛𝑥
) ,

−3𝜋

2
< 𝑥 <

𝜋

2
 

  

vFkok@OR 

𝑡𝑎𝑛−1 √
1−𝑐𝑜𝑠𝑥

1+𝑐𝑜𝑠𝑥
 , 0 < 𝑥 < 𝜋 dk eku Kkr dhft, A 

   

   Find the value of 𝑡𝑎𝑛−1 √
1−𝑐𝑜𝑠𝑥

1+𝑐𝑜𝑠𝑥
 , 0 < 𝑥 < 𝜋                                                           

 

(8)  fl) dhft, &           2 

𝑡𝑎𝑛−1 (
63

16
) = 𝑐𝑜𝑠−1 (

3

5
) + 𝑠𝑖𝑛−1 (

5

13
) +  

Prove that −                                                                                                                        

𝑡𝑎𝑛−1 (
63

16
) = 𝑐𝑜𝑠−1 (

3

5
) + 𝑠𝑖𝑛−1 (

5

13
) + 

vFkok@OR 
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fl) dhft, & 

𝑡𝑎𝑛−1 (
√1 + 𝑠𝑖𝑛𝑥 + √1 − 𝑠𝑖𝑛𝑥

√1 + 𝑠𝑖𝑛𝑥 − √1 − 𝑠𝑖𝑛𝑥
) =  

𝑥

2
  , 𝑥 ∈ (0,

𝜋

2
) 

  Prove that −                                                                                                             

𝑡𝑎𝑛−1 (
√1 + 𝑠𝑖𝑛𝑥 + √1 − 𝑠𝑖𝑛𝑥

√1 + 𝑠𝑖𝑛𝑥 − √1 − 𝑠𝑖𝑛𝑥
) =  

𝑥

2
  , 𝑥 ∈ (0,

𝜋

2
) 

]  (9)     ;fn 𝑦 = 𝑡𝑎𝑛−1𝑥 rks 
𝑑2𝑦

𝑑𝑥2 dk eku Kkr dhft,A                                2 

If 𝑦 = 𝑡𝑎𝑛−1𝑥 then find the value of  
𝑑2𝑦

𝑑𝑥2 

    vFkok@OR 

;fn 𝑦 + 𝑠𝑖𝑛𝑦 = 𝑐𝑜𝑠𝑥 rks 
𝑑𝑦

𝑑𝑥
 Kkr dhft,A 

If 𝑦 + 𝑠𝑖𝑛𝑦 = 𝑐𝑜𝑠𝑥 then find 
𝑑𝑦

𝑑𝑥
 

                                                     

(10)   𝑓(𝑥) = −𝑠𝑖𝑛𝑥, 𝑥 ∈ (0,
𝜋

2
) }kjk iznRr Qyu ds LFkkuh; mPpre vkSj LFkkuh; fuEure 

eku Kkr dhft,A                                                         2 

Find the local maximum and local minimum values of the function given by  

𝑓(𝑥) = −𝑠𝑖𝑛𝑥, 𝑥 ∈ (0,
𝜋

2
) 

vFkok@OR 

fn[kkb, fd iznRr Qyu 𝑓(𝑥) = 𝑥3 − 3𝑥2 + 4𝑥 tgk a𝑥 ∈ 𝑅, 𝑅 ij o?kZeku Qyu gSA 

 
Show that the given function 𝑓(𝑥) = 𝑥3 − 3𝑥2 + 4𝑥  where 𝑥 ∈ 𝑅 is an increasing 
function on 𝑅. 

(11) ,d ifjorZu'khy ?ku dk fdukjk 3𝑐𝑚/𝑠 dh nj ls c< jgk gSA ?ku dk vk;ru fdl 

 nj ls c< jgk gS tcfd fdukjk 10 lseh yack gS A                                 2    

 

The edge of a variable cube is increasing at the rate of  3𝑐𝑚/𝑠. At what rate is the 

volume of the cube increasing when the edge is 10 cm long?     
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vFkok@OR 
𝑓(𝑥) = 3𝑥4 + 4𝑥3 − 12𝑥2 + 12 }kjk iznRr Qyu ds LFkkuh; mPpre vkSj LFkkuh; 

fuEure eku Kkr dhft,A 

Find the local maximum and local minimum values of the function given  

by 𝑓(𝑥) = 3𝑥4 + 4𝑥3 − 12𝑥2 + 12. 

 

(12)   vody lehdj.k 
𝑑𝑦

𝑑𝑥
=

1+𝑦2

1+𝑥2
 dk O;kid gy Kkr dhft,A     2 

Find the general solution of the differential equation 
𝑑𝑦

𝑑𝑥
=

1+𝑦2

1+𝑥2
 

vFkok @OR 

      vody lehdj.k (𝑒𝑥 + 𝑒−𝑥)𝑑𝑦 − (𝑒𝑥 − 𝑒−𝑥)𝑑𝑥 = 0 dk O;kid gy Kkr dhft,A 

           Find the general solution of the differential equation                                           

(𝑒𝑥 + 𝑒−𝑥)𝑑𝑦 − (𝑒𝑥 − 𝑒−𝑥)𝑑𝑥 = 0 

                                         

  (13)   lfn'k 5𝑖̂ − 𝑗̂ + 2𝑘̂ ds vuqfn'k ,d lfn'k Kkr dhft, ftldk ifjek.k 8 bdkbZ gSA 2 

 Find a vector in the direction of the vector 5𝑖̂ − 𝑗̂ + 2𝑘̂ which has magnitude  

 8 units. 

 

vFkok@OR 

lfn'k 𝑎⃗ vkSj 𝑏⃗⃗   bl izdkj gS] fd |𝑎⃗| = 3 vkSj |𝑏⃗⃗| =
√2

3
 rFkk 𝑎⃗ × 𝑏⃗⃗ ,d ek=d 

lfn'k gS] 𝑎⃗ vkSj 𝑏⃗⃗  ds chp dk dks.k Kkr dhft,A 

 The vector  𝑎⃗ and 𝑏⃗⃗ are such that,|𝑎⃗| = 3 and |𝑏⃗⃗| =
√2

3
 and 𝑎⃗ × 𝑏⃗⃗ is a unit vector, 

find the angle between  𝑎⃗ and 𝑏⃗⃗. 

 

(14) ;fn ,d js[kk tks 𝑥, 𝑦 vkSj 𝑧 v{kksa ds lkFk Øe'k%   90𝑜, 135𝑜
 vkSj 45𝑜

dks.k cukrh gS 

 rks ml js[kk ds fnd~&dkslkbu Kkr dhft,                                  2 

If a line makes angles    90𝑜, 135𝑜and 45𝑜 with axes 𝑥, 𝑦 and 𝑧 respectively then 

find the direction cosines of the line         
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vFkok @OR 
js[kk ;qXe 𝑟 = 3𝑖̂ + 2𝑗̂ − 4𝑘̂ + 𝜆(𝑖̂ + 2𝑗̂ + 2𝑘̂) vkSj 𝑟 = 5𝑖̂ − 2𝑗̂ + 𝜇(3𝑖̂ + 2𝑗̂ + 6𝑘̂) 

ds chp dk dks.k Kkr dhft,A 

Find the angle between the pair of  lines 𝑟= 3𝑖̂ + 2𝑗̂ − 4𝑘̂ + 𝜆(𝑖̂ + 2𝑗̂ + 2𝑘̂) and 

𝑟= 5𝑖̂ − 2𝑗̂ + 𝜇(3𝑖̂ + 2𝑗̂ + 6𝑘̂) . 

 

(15)  ;fn 𝑎⃗ = 2𝑖̂ + 𝑗̂ + 3𝑘̂ vkSj  𝑏⃗⃗ = 3𝑖̂ + 5𝑗̂ − 2𝑘̂  gks rks |𝑎⃗ × 𝑏⃗⃗| Kkr dhft,A  2 

If 𝑎⃗ = 2𝑖̂ + 𝑗̂ + 3𝑘̂ and 𝑏⃗⃗ = 3𝑖̂ + 5𝑗̂ − 2𝑘̂  then find |𝑎⃗ × 𝑏⃗⃗|. 

vFkok@OR 
lfn’k fof/k ls ,d f=Hkqt dk {ks=Qy Kkr dhft, ftlds 'kh"kZ fcanq 

𝐴(1,1,1) , 𝐵(1,2,3) vkSj 𝐶(2,3,1) gSaA 

                  Find the area of a triangle by vector method whose vertices  are 𝐴(1,1,1) , 𝐵(1,2,3)  

and 𝐶(2,3,1).                       

(16)  ;fn 𝐴 = [
𝑐𝑜𝑠 ∝ −𝑠𝑖𝑛 ∝
𝑠𝑖𝑛 ∝ 𝑐𝑜𝑠 ∝

] rFkk 𝐴 + 𝐴′ = 𝐼  rks ∝ dk eku Kkr dhft,A       3 

  If A= [
𝑐𝑜𝑠 ∝ −𝑠𝑖𝑛 ∝
𝑠𝑖𝑛 ∝ 𝑐𝑜𝑠 ∝

] and 𝐴 + 𝐴′ = 𝐼 then find the value of ∝ 

   

vFkok@OR 

;fn 2𝑋 − 𝑌 = [
4 6
8 0

] rFkk 𝑋 − 2𝑌 = [
2 3

−2 9
] rks 𝑋 rFkk 𝑌 Kkr dhft,A 

If  2𝑋 − 𝑌 = [
4 6
8 0

] and 𝑋 − 2𝑌 = [
2 3

−2 9
] then find 𝑋 and 𝑌 

(17)   lekdyu dk iz;ksx djrs gq, oØ 𝑦2 = 9𝑥 js[kkvksa 𝑥 = 2, 𝑥 = 4  ,oa 𝑥&v{k ls f?kjs 

{ks= dk izFke prqFkk±'k esa {ks=Qy Kkr dhft,A                     3 
By using integration find the area of the region bounded by the curve 𝑦2 = 9𝑥 
lines 𝑥 = 2, 𝑥 = 4 and 𝑥 axis in the first quadrant. 
 

  vFkok@OR 
 
lekdyu dk iz;ksx djrs gq, nh?kZo`Rr 9𝑥2 + 16𝑦2 = 144 ls f?kjs {ks= dk {ks=Qy Kkr 

dhft,A 

By using integration find the area enclosed by the ellipse  9𝑥2 + 16𝑦2 = 144.          
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  (18)  vkys[kh; fof/k }kjk fuEu jSf[kd çksxzkeu leL;k dks gy dhft,∶ 

fuEu O;ojks/kksa ds varxZr 𝑥 + 3𝑦 ≤ 60, 𝑥 + 𝑦 ≥ 10, 𝑥 ≤ 𝑦, 𝑥 ≥ 0, 𝑦 ≥ 0 

𝑧 = 3𝑥 + 9𝑦 dk U;wure eku Kkr dhft,A                                   3 
S          

Solve the following linear programming problem by graphical method :  

Minimise  𝑧 = 3𝑥 + 9𝑦 subject to the constraints :  

 𝑥 + 3𝑦 ≤ 60, 𝑥 + 𝑦 ≥ 10, 𝑥 ≤ 𝑦, 𝑥 ≥ 0, 𝑦 ≥ 0 

vFkok@OR 

             vkys[kh; fof/k }kjk fuEu jSf[kd çksxzkeu leL;k dks gy dhft,A  

fuEu O;ojks/kksa ds varxZr 𝑥 + 𝑦 ≤ 50, 3𝑥 + 𝑦 ≤ 90, 𝑥 ≥ 0, 𝑦 ≥ 0  

𝑧 = 4𝑥 + 𝑦  dk vf/kdrehdj.k dhft,: 

Solve the following linear programming problem by graphical method :  

Maximise  𝑧 = 4𝑥 + 𝑦  subject to the constraints :  

  𝑥 + 𝑦 ≤ 50, 3𝑥 + 𝑦 ≤ 90, 𝑥 ≥ 0, 𝑦 ≥ 0                                        

    

(19) ,d FkSys A esa 3 lQsn ,oa 4 yky xsans gS vkSj FkSys B eas 5 lQsn ,oa 6 yky xsans gSA 

bu FkSykas esa ls ,d xsan fudkyh tkrh gS vkSj ;g yky ik;h tkrh gS rks FkSys B ls bl 

xsan ds fudkyus dh çkf;drk Kkr dhft, A                                 3 

A bag A contains 3 white and 4 red balls and bag B contains 5 white and 6 red 

balls. If a ball is taken out from these bags and it is found to be red, then find the 

probability of taking out this ball from the bag B.     

vFkok @OR 
,d ik¡lk rhu ckj mNkyk tkrk gSA çkf;drk Kkr dhft, fd de ls de ,d ckj 

fo"ke vad vk, 

A dice is thrown three times. Find the probability that an odd number comes up 

at least once. 
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 (20)  𝐾 ds ml eku dks Kkr dhft, ftlls iznRr Qyu         4    

𝑓(𝑥) = {

1−𝑐𝑜𝑠𝑘𝑥

𝑥𝑠𝑖𝑛𝑥
, यदि 𝑥 ≠ 0

1

2
 ,यदि 𝑥 = 0

𝑥 = 0 ij larr gksA 

Find the value of 𝐾 for which the given function 

 𝑓(𝑥) = {

1−𝑐𝑜𝑠𝑘𝑥

𝑥𝑠𝑖𝑛𝑥
, if 𝑥 ≠ 0

1

2
,              if 𝑥 = 0

  is continuous at 𝑥 = 0 

 

vFkok @OR 
 

;fn 𝑦 = (𝑡𝑎𝑛−1𝑥)2
 rks n'kkZb, fd (𝑥2 + 1)2𝑦2 + 2𝑥(𝑥2 + 1)𝑦1 = 2 

If 𝑦 = (𝑡𝑎𝑛−1𝑥)2 then show that (𝑥2 + 1)2𝑦2 + 2𝑥(𝑥2 + 1)𝑦1 = 2 

(21) fn, x;s lehdj.k fudk; dks vkO;wg fof/k ls gy dhft, &    4 

𝑥 + 2𝑦 − 3𝑧 = −4 

2𝑥 + 3𝑦 + 2𝑧 = 2 

3𝑥 − 3𝑦 − 4𝑧 = 11 

S                      Solve given system of equations by matrix method .                                     
𝑥 + 2𝑦 − 3𝑧 = −4 

2𝑥 + 3𝑦 + 2𝑧 = 2 

3𝑥 − 3𝑦 − 4𝑧 = 11 

 

          vFkok @OR 

;fn 𝐴 = [
1 2 −3
2 3 2
3 −3 −4

] rks 𝐴−1
 Kkr dhft,A 

If 𝐴 = [
1 2 −3
2 3 2
3 −3 −4

] then find 𝐴−1  

(22)    fl) dhft, ∫ 𝑙𝑜𝑔𝑠𝑖𝑛𝑥𝑑𝑥 = −
𝜋

2
𝑙𝑜𝑔2

𝜋

2
0

           4 

             Prove that ∫ 𝑙𝑜𝑔𝑠𝑖𝑛𝑥𝑑𝑥 = −
𝜋

2
𝑙𝑜𝑔2

𝜋

2
0
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vFkok@OR 

    ∫
(𝑥2+1)𝑒𝑥

(𝑥+1)2
  𝑑𝑥  dk eku Kkr dhft,A 

    Find the value of ∫
(𝑥2+1)𝑒𝑥

(𝑥+1)2
  𝑑𝑥   

 

(23)  fuEufyf[kr  js[kkvksa ds chp dh U;wure~ nwjh Kkr dhft,&       4 

𝑟 = (𝑖̂ + 2𝑗̂ + 3𝑘̂) + +++++λ(2𝑖̂ + 3𝑗̂ + 4𝑘̂); 

𝑟 = (2𝑖̂ + 4𝑗̂ + 5𝑘̂) ++++++μ(3𝑖̂ + 4𝑗̂ + 5𝑘̂) 

     Find the shortest distance between following lines.                                            

𝑟 = (𝑖̂ + 2𝑗̂ + 3𝑘̂) + +++++λ(2𝑖̂ + 3𝑗̂ + 4𝑘̂); 

𝑟 = (2𝑖̂ + 4𝑗̂ + 5𝑘̂) ++++++μ(3𝑖̂ + 4𝑗̂ + 5𝑘̂) 

 

vFkok@OR 

ljy js[kk dk dkrÊ; ,oa lfn'k :i Kkr dhft, tks fcUnq (−2,4, −5) ls tkrh gS 

rFkk js[kk  
𝑥+3

3
=

𝑦−4

5
=

𝑧+8

8
 ds lekUrj gSA 

Find the Cartesian and vector form of the straight line which passes through the 

point (−2,4, −5) and  parallel to the line  
𝑥+3

3
=

𝑦−4

5
=

𝑧+8

8
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SAMPLE QUESTION PAPER FOR PRACTICE ONLY 

HIGHER SECONDARY EXAM 2025 

SUBJECT- CHEMISTRY 

(Hindi & English Version) 
 

Total Questions  Total Printed 

Pages 

Time (Hours) Maximum 
Marks  

20 11 03:00 Hrs. 70 

  

funsZ'k %  

(i) lHkh ç'u djuk vfuok;Z gSA   

(ii) ç'u Øekad 1 ls 5 rd oLrqfu"B ç'u gSa ftuds dqy vad 28 gSaA  

(iii) ç'u Øekad 6 ls 12 rd] çR;sd ç'u 2 vad dk gSA ¼'kCn lhek 30 'kCn½   

(iv) ç'u Øekad 13 ls 16 rd] çR;sd ç'u 3 vad dk gSA ¼'kCn lhek 75 'kCn½   

(v) ç'u Øekad 17 ls 20 rd] çR;sd ç'u 4 vad dk gSA ¼'kCn lhek 120 'kCn½   

(vi) ç'u Øekad 6 ls 20 rd çR;sd esa vkarfjd fodYi fn;s x;s gSA  

 

Instruction  

(i) All Questions are compulsory.  

(ii) Question Nos 1 to 5 are objective type question each carries 1 mark total 28 Marks.  

(iii) Question Nos 6 to 12 each question carries 2 marks. (word limit 30 words) 

(iv) Question Nos 13 to 16, each question carries 3 marks. (word limit 75 words) 

(v) Question Nos 17 to 20, each question carries 4 marks. (word limit 120 words) 

(vi) Internal choice is given in every question from question Nos. 6 to 20. 
 

1- lgh fodYi pqudj fyf[k, &          1x6=6 vad 

(i) gsujh ds fu;e dk lw= gS &  

(a) P = KH /x    (b) x - KH / p 

(c) P = KH - x    (d) KH = P - x 

(ii) ejD;wjh lsy dk mi;ksx fuEu esa ls fdl ;qfDr esa ç;qDr gksrk gS &  

(a) Jo.k ;a=    (b) nhoky ?kM+h    

(c) dkWy cSy   (d) vykeZ ?kM+h  

(iii) laØe.k rRo vuqpqEcdh; O;ogkj çnf'kZr djrs gSa] D;ksafd muesa gksrs gS  &  

(a) iw.kZ iwfjr d{kd   (b) ;qfXer bysDVªkWu ;qDr d{kd  

(c) v)Z iwfjr d{kd  (d) fjDr d{kd  
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(iv) dsUæh; /kkrq vk;u@ijek.kq ls tqM+s fyxS.M ¼layXuh½ dh la[;k dgykrh gS &  

(a) vkWDlhdj.k la[;k    (b) leUo;u e.My  

(c) vip;u la[;k   (d) milgla;kstu la[;k  

(v) çkFkfed ,sehu dh lajpuk &  

(a) leprq"Qydh;     (b) v"VQydh;  

(c) f=dks.kh;    (d) fijkfeMh;  

(vi) TohVj vk;u dh mHk;/kehZ çd`fr dk dkj.k gS &  

(a) vEyh; lewg dh mifLFkfr  (b)  {kkjh; lewg dh mifLFkfr 

(c) nks {kkjh; lewgksa dh mifLFkfr  (d)  ,d vEyh; o ,d {kkjh; lewg  

dh mifLFkfr 

 

     Choose and write the correct option –  

(i) Formula of Henry's Law is. 

(a) P = KH /x    (b) x - KH / p 

(c) P = KH - x    (d) KH = P - x  

(ii) In which of the following device mercury cell is used -  

(a) Auditory device   (b) Wall clock  

(c) Call bell    (d) Alarm clock  

(iii) Transition elements show paramagnetic behavior because the possess -   

(a) Full filled orbital   (b) Paired electron orbital  

(c) Half filled orbital   (d) Vacant Orbital  

(iv) Number of Ligands attached with central metal ion/atom is called -   

(a) Oxidation Number    (b) Co-ordination sphere 

(c) Reduction Number    (d) Co-ordination number   

(v) Structure of Primary amine is -    

(a) Tetrahedral     (b) Octahedral  

(c) Trigonal      (d) Pyramidal  

(vi) Amphoteric nature of Zwitter ion is due to -  

(a) Presence of acidic group   (b) Presence of basic group 

(c) Presence of two basic group (d) Presence of one acidic & one  

basic group  
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2- fjDr LFkku Hkfj;s &            1x6=6 vad 

(i) lksMk okVj esa foys; izkoLFkk -------------------- gSA  

(ii) ,uksM ij ---------------------- vfHkfØ;k gksrh gSA  

(iii) foVkfeu B-12 esa ---------------------- dsUæh; /kkrq ijek.kq gSA  

(iv) jtr niZ.k ijh{k.k ---------------------- n'kkZrs gSA  

(v) çkFkfed ,sehu] f}rh; ,sehu dh rqyuk esa ---------------------- {kkjh; gSA  

(vi) ;fn 'kdZjk esa çdk;kZRed lewg -CHO gks rks ;g ---------------------- 'kdZjk gSA  

Fill in the blanks -  

(i) Solute phase in soda water is .....................  

(ii) ................. reaction occurs at Anode.  

(iii) Central metal atom in vitamin B-12 is .....................  

(iv) .................. shows silver mirror test.  

(v) Primary amines are ................. basic than secondary amine.  

(vi) If a sugar contains functional group -CHO then sugar is ....................... 

3- lR;@vlR; fyf[k, &             1x6=6 vad 

(i) foy;u nks ;k nks ls vf/kd vo;oksa dk lekaxh feJ.k gksrk gSA  

(ii) çfrjks/k dk O;qRØe pkydRo dgykrk gSA  

(iii) C2H5OH eksuksgkbfMªd ,sYdksgkWy ugha gSA  

(iv) lksfM;e csatks,V dk mi;ksx [kk| ifjj{k.k esa gksrk gSA  

(v) ekYVsl ,Utkbe ekYVksl ds Xywdkst esa tyvi?kVu dks mRizsfjr ugha djrk gSA  

(vi) gkeksZUl jDr dh /kkjk ls 'kjhj esa çokfgr gksdj mikip;h fØ;kvksa dk fu;eu djrs gSA  

Write True / False.  

(i) Solution is the homogeneous mixture of two or more than two components.  

(ii) Reciprocal of resistance is conductance.  

(iii) C2H5OH is not a monohydric alcohol.  

(iv) Sodium benzoate is used as a food preservative.  

(v) Maltase enzyme does not catalyze the hydrolysis of maltose to glucose.  

(vi) Hormones regulate the metabolic process in body through the flow of blood.  
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4- lgh tksM+h cukb;s &             1x5=5 vad 

(i) çkFkfed lsy    (a) ÝhvkWu 
(ii) lfØ;.k ÅtkZ    (b) ,LVjhdj.k  

(iii) ikWyh gSyks,sYdsu   (c) ÅtkZ vojks/k  
(iv) dkcksZDlfyd vEy   (d) jatd 
(v) ,stkscsathu    (e) vuqRØe.kh;  

     

Match the column  

(i) Primary Cell   (a)  Freon  

(ii) Activation energy   (b) Esterification  

(iii) Polyhaloalkane  (c) Energy barrier  

(iv) Carboxylic acid  (d) Dyes  

(v) Azo benzene   (e) Irreversible  

 

5- ,d 'kCn@okD; esa mRrj fyf[k, &          1x5=5 vad 

(i) dSMfe;e esa v;qfXer bysDVªªkuksa dh la[;k fyf[k,A  

(ii) Cr3+ vk;u dk jax fyf[k,A 

(iii) dSVsdkWy dh lajpuk fyf[k,A    

(iv) f}rh;d ,sYdksgkWy ds vkDlhdj.k ls çkIr gksus okys mRikn dk uke fyf[k,A  

(v) Xywdkst dh czksehu ty ls fØ;k gksus ij çkIr ;kSfxd dk uke fyf[k,A  

Write answer in one word / sentences 

(i) Write the number of unpaired electrons present in cadmium. 

(ii) Write the colour of Cr3+ ion.  

(iii) Write the structure of Catechol.  

(iv) Write the name of product obtained from oxidation of secondary alcohol.  

(v) Write the name of compound obtained by the reaction of Bromine water with 

glucose.  

6- fof'k"V pkydrk dh ifjHkk"kk ,oa bdkbZ fyf[k,A            2 vad 

Write the definition and unit of specific conductivity.  

vFkok or 

lsy fLFkjkad dh ifjHkk"kk ,oa bdkbZ fyf[k,A          

Write the definition and unit of cell constant.   
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7- jklk;fud vfHkfØ;k ds osx dks ifjHkkf"kr dj fyf[k,A           2 vad 

Define the rate of a chemical reaction  

vFkok or 

vfHkfØ;k dh vkf.odrk dks ifjHkkf"kr dj fyf[k,A           

Define the molecularity of a reaction.   

8- ySUFksukbM ds nks mi;ksx fyf[k,A                  2 vad 

Write two uses of Lanthanides  

vFkok or 

KMnO4 ds nks mi;ksx fyf[k,A            

Write two uses of KMnO4 

9- milgla;kstu la[;k dh ifjHkk"kk o ,d mnkgj.k fyf[k,A               2 vad 

Write the definition and one example of co-ordination number.   

vFkok or 

dsUæh; /kkrq ijek.kq dh ifjHkk"kk o ,d mnkgj.k fyf[k,A          

Write the definition and one example of central metal atom.  

10- fuEufyf[kr milgla;kstu ;kSfxdksa ds lw= fyf[k,A               2 vad 

¼i½ ikSVsf'k;e VsVªkgkbMªªkfDlMks ftadsV ¼II½ 

¼ii½ VsVªªk,sehu ,DokDyksfjMks dksokYV ¼III½ DyksjkbM 

Write the formula of following co-ordination Compounds.  

¼i½ Potassium tetrahydroxido zincate (II) 

¼ii½ Tetrammine aquachlorido cobalt ¼III½ Chloride 

vFkok or 

fuEufyf[kr milgla;kstu ;kSfxdksa ds IUPAC uke fyf[k,A         

¼i½ [Pt (NH3)2 Cl (NO2)]   

¼ii½ [Co(Cl)2 (en)2] 

Write the IUPAC name of following co-ordination compounds.  

¼i½ [Pt (NH3)2 Cl (NO2)]  

¼ii½ [Co(Cl)2 (en)2] 
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11- okbfufyd gSykbM o ,sfjy gSykbM esa ,d varj fyf[k,A           2 vad 

Write one difference between Vinylic halide and aryl halide. 

vFkok or 

,sfyfyd gSykbM o csfUtfyd gSykbM esa ,d vUrj fyf[k,A  

Write one difference between Allylic halide and Benzylic halide.  

12- euq"; ds 'kjhj esa foVkfeu& C lafpr ugha gksrk] D;ksa \           2 vad 

Vitamin – C is not stored in human body, Why ? 

vFkok or 

euq"; ds 'kjhj esa foVkfeu&D lafpr gks tkrk gS] D;ksa \ 

Vitamin – D is stored in human body, Why ? 

13- mu vfHkfØ;kvksa dh dksfV dh x.kuk dhft;s] ftudk osx O;atd gS &         3 vad 

¼i½ osx = K [A] 1/2 [B] 3/2 

¼ii½ osx = K [A] 3/2 [B]  -1 

Calculate the order of reaction which has rate expression –  

¼i½ Rate = K [A] 1/2 [B] 3/2 

¼ii½ Rate = K [A] 3/2 [B]  -1 

vFkok or 

fuEufyf[kr osx fLFkjkadksa ls vfHkfØ;k dksfV dh igpku dhft;sA  

¼i½ K = 2.3x10-5 L mol-1 S-1 

¼ii½ K = 3x10-4  S-1 

Identify order of reaction by following rate constant  –  

¼i½ K = 2.3x10-5 L mol-1 S-1 

¼ii½ K = 3x10-4  S-1 

14- d CykWd ds rRo ifjorhZ vkWDlhdj.k la[;k çnf'Zkr djrs gSa D;ksa \ mnkgj.k fyf[k,A     3 vad 

d- block elements exhibit variable oxidation state, why ?  Write with example.  

vFkok or 

d CykWd ds rRo pqEcdh; xq.k çnf'kZr djrs gS] D;ksa \ mnkgj.k fyf[k,A   

d- block elements exhibit magnetic properties why ? Write with example. 
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15- czkseksC;wVsu ds pkj leko;oh;ksa esa SN1  o SN2  
vfHkfØ;k dh vfHkfØ;k'khyrk dk Øe vuqekfur 

dj fyf[k,A                   3 vad 

Assume the order of reactivity of SN1 and SN2 Reaction for four isomers of Bromobutane.  

vFkok or 

fuEufyf[kr dkcZfud ;kSfxdksa dh lajpuk fyf[k,A  

(i) 2 & Dyksjksa & 3 & esfFkyisUVsu  

(ii) 1] 4 & MkbczkseksC;wV & 2 & bZu  

(iii) 1 & Dyksjks & 4 & ,fFkylkbDyksgsDlsu  

Write the structure of following organic compounds -  

(iv) 2 – Chloro -3 – Methyl pentane  

(v) 1,4  – dibromobut – 2 ene  

(vi) 1 – Chloro – 4 – Ethyl cyclohexane   

16- fuEufyf[kr ifjorZu dSls djsaxs \ fyf[k,A                     3 vad 

(i) csUthu ls ,suhyhu 

(ii) csatkekbM ls ,suhyhu  

How will you convert ? 

(i) Benzene to Aniline  

(ii) Benzamide to Aniline  

vFkok or 

fuEufyf[kr ifjorZu dSls djsaxs \ fyf[k,A 

(i) FkSyhekbM ls N-  ,fYdy FkSyhekbM  

(ii) csfUty DyksjkbM ls N, N- MkbesfFkuQsfuy esFksusehu  

How will you convert ? 

(i) phthalimide to  - N – alkyl phthalimide  

(ii) Benzyl chloride to N, N dimethylphenyl methenamine. 

17- (i) DoFkukad esa mUu;u dks ifjHkkf"kr dhft;s o bldk eksyyrk ls laca/k LFkkfir dhft;sA   

                              4 vad 

(iii) ,d lkWlisu ik= esa 36g Xywdkst dks 1 kg ty esa ?kksyk x;k 1.013 ckj nkc ij ;g 

ty fdl rki ij mcysxk \ ty ds fy;s Kb = 0.52 K kg mol-1 gSA  
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(i) Define the elevation in boiling point and establish a relation of it with molality.  

(ii) 36g of glucose, C6H12O6, is dissolved in 1 kg of water is a saucepan, At what 

temperature will water boil at 1.013 bar ? Kb for water is 0.52 K kg mol-1. 

vFkok or 

(i) dejs ds rki ij lksMkokVj dh cksry [kksyus ij cqycqys mRiUu gksrs gS] D;ksa \ 

(ii) ,d izksVhu dks 200 cm3 tyh; foy;u esa 1-26g izksVhu dks 300 K ij bl foy;u dk 

ijklj.k nkc 2.57 x 10 -3 ckj ik;k x;k izksVhu ds eksyj æO;eku dk ifjdyu dhft;sA  

(i) Fizz / Bubbles are produced on opening of a bottle of soda water at room 

temperature, Why ? 

(ii) 200 cm3 of an aqueous solution of a protein contains 1.26g of the protein. The 

osmotic pressure of such a solution at 300 K is found to be 2.57 x 10-3 bar. Calculate 

the molar mass of protein.  

18-  (i) ;fn ,d /kkfRod rkj esa 0-5 ,sfEi;j dh /kkjk 2 ?k.Vksa ds fy, çokfgr gksrh gS rks rkj esa 

ls fdrus bysDVªªku çokfgr gksaxsA             4 vad 

 (ii) fuEufyf[kr vfHkfØ;k esa Cr2O7
2-
 vk;uksa ds ,d eksy ds vip;u ds fy, dwykWe esa fo|qr 

dh fdruh ek=k dh vko';drk gksxh & 

   Cr2O7
2- + 14H+ + 6e-      2cr3+ + 7H20 

(i) If a current of 0.5 ampere flows through a metallic wire for 2 hours, than how 

many electrons would flow through the wire ? 

(ii) Considers the reaction Cr2O7
2- + 14H+ + 6e-           2cr3+ + 7H20. What is the 

quantity of electricity in coulombs needed to reduced 1 mol of Cr2O7
2- 

vFkok or 

0.025 mol L-1 
esFksuksbd vEy dh pkydrk 46.1 S cm2 mol-1 gSA bldh fo;kstu ek=k 

,oa fo;kstu fLFkjkad dk ifjdyu dhft;sA fn;k x;k gS fd [H+] = 349.6  S cm2 mol-1         

,oa [HCOO-] =54.6 S cm2 mol-1 

The conductivity of 0.025 mol L-1 Methanolic acid in 46.1 S cm2 mol-1. Find 

out the Rate of dissociation and dissociation constant.   
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19- Qhuksy vEyh; çd`fr çnf'kZr djrk gS D;ksa fyf[k,A       4 vad   

 Phenol shows acidic nature, why ? 

vFkok 

fuEufyf[kr jklk;fud vfHkfØ;kvksa dks iw.kZ dhft;sA  

(i)     N=N-Cl 

   H2O  

     Cux2 

 

(ii)        SO3H 

   (i)   NaOH  

   (ii)  H+ 

(iii)       Cl 

       + NaOH 623K 

                     300 atm 

(iv)      RCOOH   LiA lH4 

              H2O 
 

 

Complete the following chemical reactions.  

fuEufyf[kr jklk;fud vfHkfØ;kvksa dks iw.kZ dhft;sA  

(i)        N=N-Cl 

   H2O  

     Cux2 

 

(ii)        SO3H 

   (i)   NaOH  

   (ii)  H+ 
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(iii)       Cl 

       + NaOH 623K 

                     300 atm 

(iv)      RCOOH   LiA lH4 

               H2O 
 

 

20- D;k gksrk gS tc                 4 vad 

(i)     2HCHO + NaOH 

(ii)         COOH      lkaæ   HNO3 

        ruq    HNO3 

          

 (iii)        COOH     Br2 / Fe 

 

   

(iv)     R-COONa      NaOH + CaO 

                     

 

 What happens when –  

(i)     2HCHO + NaOH 

(ii)         COOH      lkaæ   HNO3 

        ruq    HNO3 

          

 (iii)        COOH     Br2 / Fe 

 

   

(iv)     R-COONa      NaOH + CaO 
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vFkok  

 çR;sd ;qXe ls dkSu lk vEy izcy gksxkA  

 (i) CH3CO2H or CH2FCO2H 

 (ii) CH2FCO2H or CH2ClO2H 

 (iii) CH2FCH2CH2CO2H or CH3CHFCH2CO2H. 

 (iv)    F3C   or  H3C 

 

      

       COOH       COOH 

 

Which of the acid is stronger in each pair.  

 (i) CH3CO2H or CH2FCO2H 

 (ii) CH2FCO2H or CH2ClO2H 

 (iii) CH2FCH2CH2CO2H or CH3CHFCH2CO2H. 

 (iv)    F3C   or  H3C 

 

      

       COOH       COOH 

 

==============X============= 
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fo"k; & HkkSfrd 'kkL= 

Subject - Physics 

(Hindi & English Versions) 

Total Question Total Printed Pages Time Maximum Marks 

20 09 3:00 Hours 70 

 

funsZ'k %&   

¼1½ lHkh iz'u vfuok;Z gSaA iz'u Øekad 6 ls 20 rd izR;sd iz'u esa vkUrfjd fodYi fn;s x;s gSaA  

¼2½ iz'u Øekad 1] 2 o 4 esa izR;sd iz'u ij 6 vad vkSj izR;sd miiz'u ij 1 vad fu/kkZfjr gSA 

¼3½ iz'u Øekad 3 o 5 esa izR;sd iz'u ij 5 vad vkSj izR;sd miiz'u ij 1 vad fu/kkZfjr gSA 

¼4½ iz'u Øekad 6 o 12 rd izR;sd iz'u ij 2 vad fu/kkZfjr gSA izR;sd mRrj ds fy, 'kCn lhek 

yxHkx 30 'kCn gSA 

¼5½ iz'u Øekad 13 o 16 rd izR;sd iz'u ij 3 vad fu/kkZfjr gSA izR;sd mRrj ds fy, 'kCn lhek 

yxHkx 75 'kCn gSA 

¼6½ iz'u Øekad 17 o 20 rd izR;sd iz'u ij 4 vad fu/kkZfjr gSA izR;sd mRrj ds fy, 'kCn lhek 

yxHkx 120 'kCn gSA 

¼7½ vko';drkuqlkj LoPN ,oa ukekafdr fp= cukb;sA 

Instructions : 

1. All questions are compulsory. Internal options are given in each question from Question 

Number 6 to 20. 

2. Question number 1,2 and 4 carry 6 marks for each. Each sub question carries 1 mark. 

3. Question number 3 and 5 carry 5 marks for each. Each sub question carries 1 mark. 

4. Question number 6 and 12 carry 2 marks for each. The word limit for each answer is 

approx. 30 word. 

5. Question number 13 and 16 carry 3 marks for each. The word limit for each answer is 

approx. 75 word. 

6. Question Number 17 to 20 carry 3 marks for each. The word limit for each answer is 

approx. 75 word. 

7. Draw neat and labelled diagram wherever necessary. 
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iz-01 izR;sd iz'u ds fy;s fn;s x;s fodYiksa esa ls lgh mRrj pqudj fyf[k,sA  (1 X 6 = 6) 

  

¼v½ vkosf'kr [kks[kys xksys ds vanj fo|qr {ks= dk eku gksrk gSA 

 ¼i½ vuar   ¼ii½ 'kwU; 

 ¼iii½ 1 ¼,dkad½   ¼iv½ f=T;k ds cjkcj 

 

¼c½ /kkjk ?kuRo dk SI ek=d gS &  

 ¼i½ dwykWe izfr ehVj ¼ii½ ,sfEi;j izfr ehVj2 

 ¼iii½ dwykWe izfr ehVj2 ¼iv½ ,sfEi;j izfr ehVj 

 

¼l½ fdl ;a= ¼midj.k½ esa /kkjkekih dh dq.Myh ds lkFk mPp izfrjks/k Js.kh Øe esa tksM+k 

tkrk gSA 

 ¼i½ oksYV ehVj  ¼ii½ vehVj 

 ¼iii½ oksYVk ehVj  ¼iv½ izfrjks/k ckDl 

 

¼n½ izR;korhZ /kkjk ifjiFk esa okVghu /kkjk gksrh gS ;fn ifjiFk esa gS & 

¼i½ dsoy R   ¼ⅱ½ dsoy L   

¼iii½ R-L     ¼iv½ R-C 

 

¼b½ rjax lfn'k dks O;Dr fd;k tkrk gS &  

 ¼i½ ω = 
2𝜋
T    ¼ii½ C = 2𝜋 

 ¼iii½ C = 
𝑃

 T
   ¼iv½ K = 

2𝜋

T
 

 

¼Q½ izdk'k dk jax Kkr fd;k tkrk gS & 

 ¼i½ izdk'k ds osx ls ¼ii½ izdk'k ds vk;ke ls  

 ¼iii½ izdk'k dh vko`fRr ls  ¼iv½ /kzqohdj.k dh fLFkfr ls 

 

Select and write the correct answer from the option given in each question. 

a) The intensity of electric field inside a charged hollow sphere is :-   

 (i) infinite   (ii) zero 

 (iii) one   (iv) Equal to radius 

b) SI unit of current density is. 

 (i) coulomb per metre  (ii) Ampere per metre2 

 (iii) coulomb per metre2 (iv) Ampere per metre 
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c) In which device a high resistance is joined in series with the coil of galvanometer: 

 (i) Voltmeter  (ii) Ammeter 

 (iii) Voltameter  (iv) Resistance Box 

d) In an alternating current circuit wattless current flows, if it contains:  

 (i) Only R  (ii) Only L 

 (iii) R-L     (iv) R-C   

e) Wave vector is express by :- 

 (i) ω = 
2𝜋

T
  (ii) C = 2𝜋 

 (iii) C = 
𝑃

T
   (iv) K = 

2𝜋

T
 

f) The colour of light is determined by : 

 (i) Velocity of light   (ii) Amplitude of light  

 (iii) Frequency of light   (iv) By position of polarization 

 

iz-02 fjä LFkku dh iwfrZ dhft, &        (1 X 6 = 6) 

 ¼v½ dk¡p ds vanj ok;q dk cqycqyk] ------------------------------ ysal dh Hkkafr O;ogkj djrk gSA   

¼c½ ,dy fLyV }kjk foorZu] --------------------------- foorZu dk mnkgj.k gSA  

¼l½ bysDVªku dk fojke nzO;eku] ------------------------------- gksrk gSA 

¼n½ jnjQksMZ ekWMy ds vuqlkj bysDVªku dh dqy ÅtkZ ----------------------- gksrh gSA 

¼b½ -------------- izfØ;k esa gYds ukfHkd feydj Hkkjh ukfHkd cukrs gSA 

¼Q½ fdlh v)Zpkyd dk izfrjks/k] v'kqf) feykus ij ---------------------- tkrk gSA 

 

 Fill in the blanks - 

a) An air bubble inside the glass behaves like a, -------------- lens. 

b) The diffraction from single slit is example of ------------- diffraction. 

c) The rest mass of an electron is -------------. 

d) According to Rutherford's atomic model the total energy of electron becomes -----. 

e) In the process of ----------, the lighter nuclei together make a heavy nucleus. 

f) The resistance of semiconductor ---------------. on adding impurity in it. 
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iz-03 lR; ;k vlR; fyf[k, &         (1 X 5 = 5) 

¼v½ xkek (𝛾) fdj.kksa dh Hksnu {kerk U;wure gksrh gS A 

¼c½ gkbMªkstu ijek.kq dh vk;uu ÅtkZ & 13-6 eV gksrh gS A 

¼l½ izdk'k fo|qr mRltZu ds fy, {kkjh; /kkrq,¡ iz;qDr dh tkrh gSA 

¼n½ O;fDrdj.k] fÝUtsa lenwjLFk gksrh gSA 

¼b½ tc ,d ysal dks æo esa Mqcks;k tkrk gS rks mldh {kerk c<+ tkrh gSA 

 State true or false - 

 a) The penetrating power of gamma (𝛾) rays is least. 

b) The ionization energy of hydrogen atom is -13.6 ev. 

c) The alkali metals are used for photoelectric emission. 

d) Interference fringes are equidistant. 

e) When a lens is immersed into a liquid its power is increased. 

 

iz-04 lgh tksfM+;k¡ cukb, &          (1 X 6 = 6) 

  

  LrEHk "A"     LrEHk "B"  

¼v½ [kxksyh; nwjn'khZ dh vko/kZu {kerk  ¼1½ 
1

2
ε0E2

 

¼c½ ljy lw{en'khZ dh vko/kZu {kerk  ¼2½ 
−v0

u0
(1 +

D

ue
) 

¼l½ la;qDr lw{en'khZ dh vko/kZu {kerk  ¼3½ 
1

2
CV2

 

¼n½ pkyd dk ÅtkZ ?kuRo   ¼4½ 1 +
D

f
 

¼b½ pkyd dh fLFkfrt ÅtkZ   ¼5½ 
−f0

fe

 

¼Q½ fo|qr ¶yDl dk eku   ¼6½ Eds Cos𝜃 
 

Make the correct pair - 

Column "A"     Column "B"  
 

¼a½ Magnifying power of astronomical telescope ¼1½ 
1

2
εoE2

 

¼b½ Magnifying power of simple microscope  ¼2½ 
−v0

u0
(1 +

D

ue
) 

¼c½ Magnifying power of Compound microscope ¼3½ 
1

2
CV2

 

¼d½ Energy density of conductor   ¼4½ 1 +
D

f
 

¼e½ Potential energy of conductor   ¼5½ 
−f0

fe

 

¼f½ Value of electric flux     ¼6½ Eds Cos𝜃  
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iz-05 ,d 'kCn ;k ,d okD; esa mRrj nhft,A       (1 X 5 = 5) 
  
 

¼v½ fdlh inkFkZ dh pqEcdh; izo`fRr & 0-5 gSA ;g dSlk inkFkZ gSA  

¼c½ LoizsjdRo dk SI ek=d fyf[k,A   

¼l½ izsj.k izfr?kkr ,oa dks.kh; vko`fRr dk laca/k fyf[k,A 

¼n½ /kkjk ds oxZ&ek/;&ewy (rms) eku ,oa f'k[kjeku dk laca/k fyf[k,A 

¼b½ fofdj.k dh d.k izd`fr dks iznf'kZr djus okyh ifj?kVukvksa ds uke fyf[k, A 

 

Write the answer in one word or one sentence - 
 

a) The magnetic susceptibility of a substances is - 0.5, which type of substance is this? 

b) Write the SI unit of self inductance ? 

c) Write the relation between inductive reactance and angular frequence. 

d) Write the relation between root-mean-square (rms) value and peak value of current. 

e) State the name of phenomena which shows the particle nature of radiations. 

 

iz-06 fdlh foyfxr pkyd dks /kukosf'kr djus ij mldk nzO;eku de gks tkrk gS] D;ksa \   (2) 

 The mass of an isolated conductor decreases, when it becomes positively charged, why? 

 

vFkok@OR 

 nks fo|qr cy js[kk,¡ ,d nwljs dks dHkh izfrPNsn ugha djrh gSA D;ksa \ 

 Two electric lines of force never intersect each other, why? 

 

iz-07 fo|qr izfrjks/k ,oa fof'k"V izfrjks/k ¼izfrjks/kdrk½ esa dksbZ nks vUrj fyf[k,A    (2) 

 Write any two differences between electric resistance and specific resistance (resistivity) 

vFkok@OR 

 fdlh lsy ds vkUrfjd izfrjks/k dh ifjHkk"kk fyf[k, ,oa bldk SI ek=d ,oa foeh; lw= fyf[k,A 

 Write the definition of internal resistance and write its SI unit and dimensional formula. 

 

iz-08 ,d yacs] lh/ks rkj esa 35 A ¼,fEi;j½ fo|qr /kkjk izokfgr gks jgh gSA rkj ls 20 cm ¼ls-eh-½ nwjh 

ij fLFkr fdlh fcUnq ij pqEcdh; {ks= dk ifjek.k Kkr dhft,A     (2) 

 Long straight wire carries a current 35 A (Ampere). Find the magnitude of the magnetic 

field at a point 20 cm from the wire? 

vFkok@OR 

 O;kseLFk f[kaps {kSfrt fctyh ds rkj esa 90 A fo|qr /kkjk iwoZ ls if'pe dh vksj izokfgr gks jgh 

gSA rkj ds 1-5 m uhps fo|qr /kkjk ds dkj.k mRiUu pqEcdh; {ks= dk ifjek.k Kkr dhft, \ 
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 A horizontal overhead power line carries a current of 90 A in east to west direction Find 

the magnitude of magnetic field due to the current, 1.5 m below the line ? 

 

iz-09 la/kkfj= fn"V /kkjk dks jksdrk gS tcfd mPp vko`fRr dh izR;korhZ /kkjk dks xqtjus nsrk gS] D;ksa\ 

 A capacitor blocks direct current but allows to flow high frequency alternating current, 

Why ?            (2) 

vFkok@OR 

 izR;korhZ /kkjk] pqEcdh; ,oa jklk;fud izHkko iznf'kZr ugha djrh gS] D;ksa \ 

 Alternating current does not show magnetic and chemical effects, Why ? 

 

iz-10 lcls de vko`fRr okyh fo|qr pqEcdh; rjax dk uke ,oa ,d mi;ksx fyf[k,A   (2) 

 Write the name and one use of the lowest frequency electromagnetic wave. 

vFkok@OR 

 foLFkkiu /kkjk dh ifjHkk"kk fyf[k, ,oa bldk lw= fyf[k,A 

 Write the definition of displacement current and its formula. 

 

iz-11 gkbMªkstu ijek.kq esa dsoy ,d gh bysDVªku gS fdUrq mlds mRltZu LisDVªe esa dbZ js[kk,¡ gksrh 

gSA D;ksa \             (2) 

 The spectrum of hydrogen atom has many lines though a hydrogn atom contains only 

one electron. Why? 

vFkok@OR 

 ukfHkdh; lay;u vHkh rd ,d izk;ksfxd rFkk fu;af=r ÅtkZ lzksr ds :i esa D;ksa iz;qDr ugha 

gqvk gS \ 

 The nuclear fusion could not be used as an experimental and controlled source of energy 

till now. Why? 

 

iz-12 uSt ¼fut½ ,oa ckg~; ¼v'kq)½ v)Zpkydksa esa dksbZ nks vUrj fyf[k,A     (2) 

 Write any two differences between intrinsic and extrinsic semiconductor. 

vFkok@OR 

 P izdkj ,oa N izdkj ds v)Zpkydksa esa dksbZ nks vUrj fyf[k,A 

 Write any two differences between P type and N type semiconductors.  

 

iz-13 fo|qr /kkjk forj.k ls lacaf/kr fdjpkWQ ds fu;eksa dks fyf[k,A     (3) 

 Write the Kirchhoff's laws related to the distribution of electric current. 

vFkok@OR 

 larqfyr OghVLVksu lsrq dk fo|qr ifjiFk cukrs gq, mldk fl)kUr LFkkfir dhft,A 

 Establish principle of balanced Wheatstone bridge by drawing its electrical circuit. 
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iz-14 ck;ks&lsoVZ dk fu;e fyf[k, rFkk bl fu;e dk lfn'k :i fyf[k,A    (3) 

 State Bio-Savart law and write it's vector form. 

vFkok@OR 

 ,sfEi;j dk ifjiFkh; fu;e fyf[k, ,oa fl) dhft,A 

 State and prove Ampere's circuital law. 
 

iz-15 izdk'k ds O;fDrdj.k ds fy, dksbZ pkj vko';d izfrca/k ¼'krsZ½ fyf[k,A   (3) 

 Write any four necessary conditions for interference of light. 

vFkok@OR 

 izdk'k ds /kzqo.k dh ifjHkk"kk fyf[k,A izdk'k ds /kqzo.k dk esyl dk fu;e fyf[k,A 

 Write the definition of polarization of light. Write the Malu's law of polarization of light. 

 

iz-16 Mh&czksXyh rjaxsa D;k gS\ Mh&czksXyh dh nzO; rjax lehdj.k LFkkfir dhft,A   (3) 

 What are de-Broglie waves? Establish the de-Broglie wave equation. 

vFkok@OR 

 izdk'k fo|qr izHkko D;k gS\ izdk'k fo|qr izHkko ds dksbZ nks fu;e fyf[k,A 

 What is photoelectric effect? Write any two laws of photoelectric effect. 
 

iz-17 P-N laf/k Mk;ksM dk vxzvfHkufr ,oa i'p vfHkufr esa fo|qr ifjiFk cukrs gq, mldh dk;Zfof/k 

le>krs gq, fyf[k,A           (4) 

 Write with explanation the working of P-N junction diode in forward bias and reverse 

bias by drawing electric circuit. 

vFkok@OR 

 fn"Vdj.k D;k gS\ P-N laf/k Mk;ksM dk iw.kZ rjax fn"Vdkjh ds :i esa mi;ksx dk o.kZu fuEu 

'kh"kZdksa ds vUrxZr dhft,A 

1- fo|qr ifjiFk  

2- dk;Zfof/k 

3- fuos'kh ,oa fuxZr flxuy dk rjax :iA 

 What is rectification? Describe the use of P-N junction diode as a full wave rectifier 
under the following heads. 

1. electrical circuit  

2. Working 

3. Wave form of input and output signals 
 

iz-18 ;fn izdk'k fdj.ksa n1 viorZukad okys ek/;e ls n2 viorZukasd okys ek/;e esa xksyh; viorZd 

i`"B esa izos'k djrh gS rc fl) dhft, fd  &       (4)  

 

  
n2

v
−  

n1

u
=  

n2−n1

R
 

¼;gk¡ ladsrksa dk lkekU; vFkZ gS½ 
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 If rays of light are incident from a medium of refractive index n1 to refractive index n2  

in spherical refractive surface then prove that 
n2

v
−  

n1

u
=  

n2 − n1

R
 

(Where the symbols have their usual meanings) 

 

vFkok@OR 

 [kxksyh; nwjn'khZ dk fdj.k vkjs[k cukrs gq, mldh vko/kZu {kerk dk lw= LFkkfir dhft,A 

tcfd vafre izfrfcac Li"V n`f"V dh U;wure nwjh ij cusaA   

 Establish the formula for magnifying power of astronomical telescope by drawing ray 

diagram when final image is formed at least distance of distinct vision. 

 

iz-19 izR;korhZ /kkjk ifjiFk ftlesa L, C ,oa R Js.khØe esa tqMs+ gksA mlesa x.kuk dhft,A  (4) 

1- ifj.kkeh foHkokUrj 

2- izfrck/kk 

3- V ,oa I ds e/; lkekUrj  

4- fo|qr /kkjk 

 Calculate in an alternating Current circuit in which the L, C and R are connected in 

series. 

1- resultant potential difference 

2- impedance 

3- phase difference between V and I 

4- electric current 
 

vFkok@OR 

 VªkUlQkWeZj dk o.kZu fuEufyf[kr fcUnqvksa ds vk/kkj ij dhft,A   

1- fl)kar  

2- ukekafdr js[kkfp=  

3- ifj.keu vuqikr dk lw=  

 Describe the transformer on the basis of following points  

1- Principal 

2- Labeled diagram 

3- Formula of transformation ratio 

 

iz-20 fo|qr f}/kqzo ds dkj.k v{kh; fLFkfr esa fLFkr fdlh fcUnq ij fo|qr {ks= dh rhozrk dk O;atd 

LFkkfir dhft,A           (4) 

 Establish the expression for the electric field intensity at a point, due to the electric 

dipole located in the axial position. 
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vFkok@OR 

 lekarj IysV la/kkfj= dh /kkfjrk gsrq O;atd LFkkfir dhft,A /kkfjrk dks dkSu&dkSu ls dkjd 

izHkkfor djrs gSA 

 Establish the expression for the capacitance of a parallel plate capacitor. What factors 

affect its capacitance. 
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Subject - English 
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Instructions:  

  Read all the questions carefully.  

  Read the instructions given with the questions before attempting them.  

  Marks of each question are indicated against them. 
 

Section A (Reading) 

Q.1.    Read the passage carefully and answer the questions given below : 

Education is a sub-system of the wider social system. Although it functions autonomously, it 

has linkage with the economic, political, religious and other sub-system which exert a 

powerful influence on the goals of the educational sub-system. 

Education can rarely free itself from social and cultural norms and has to relate itself to the 

needs of society. 

Due to globalization and modernization, our society is passing through momentous changes 

in its value system. Values of yesteryears have taken a backseat and materialism, corruption, 

this honesty and other negative values have come to the fore. 

At this junction, all formal and informal agencies of education like Family, School and 

community should realise the explosiveness of the situation. It is rightly said values cannot 

be taught, they are caught. All the agencies should become role model if we want our youth 

to be on the right path. 

Absence of a congenial and loving atmosphere and quarrel among parents are the major 

hurdles in this direction. In a nutshell, the family has ceased to be an institution for providing 

cultural, aesthetic and moral education. 

On the other hand, formal education is squeezed between memory and mechanisation. The 

teacher has become a businessman doing private tuition instead of institutional teaching. 

Race for degrees and jobs has deteriorated the situation further. 

The National policy of education 1986 has shown concerned in this regard when it says, “The 

growing concern over the erosion of essential values and ends increasing cynicism in society 

has brought to focus the need for adjustment in the curriculum in order to make education of 

forceful tool for the cultivation of social and moral values.” 

The whole system of education needs complete over-hauling. If at all, we the citizens are 

desirous of thwarting deterioration in values, teaching at all levels must emphasise on moral 

education and character building. Intellect without wisdom can be suicidal. 
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Questions: 

1.  What is a subsystem of the wider social system.     1 

(a)  economics    (b) culture  

(c)  education    (d)  globalization  

2.  Education system is linked with……..     1 

(a)  economic    (b)     economic, political and religious  

 (c) geographical    (d) all of these  

3.  Which factors have great impact on education system.     1 

(a)  finance                      (b)  racism 

 (c) society and culture    (d) media  

4.  What are the main cause of momentous changes in its value system ?  1 

(a)  ancient culture   (b)  backseat and materialism  

(c)   globalization and modernization (d)  all of these  

5.  What is the primary Institution of education?      1 

(a)  school     (b)  career counseling classes  

(c)  home      (d)  coaching institutes 

6.  Give the word from the passage that gives the meaning of ‘pleasant’: 1 

(a)  congenial                     (b) nutshell  

(c)  explosiveness                (d)  curriculum 

7.  Cultural aesthetic and moral education can be found in…….    1 

(a) friend circle                     (b) religious discourse  

(c)  family      (d)  office     

8.  What is the Rival of institutional teaching ?     1 

(a)  society     (b)  globalization  

(c)  moral education   (d)  private tuition 

9.  The national education policy 1986 emphasise on   1 

(a)  readjustment                            (b)   cultivation 

(c)   re adjustment in curriculum       (d)  wisdom  

10.   The noun form of Economics.   1 

(a)  economic     (b) economy 

(c)  economical    (d)  economically  
 

Q.2 Read the passage carefully and answer the questions given below: 

Homeopathy, a system of alternative medicine, was developed by German 

physician Samuel Hahnemann in the late 18th century. The term "homeopathy" 
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comes from the Greek words "homoios" (similar) and "pathos" (suffering). 

Homeopathy is based on the principle of "like cures like," which means that a 

substance that causes symptoms in a healthy person can be used to treat similar 

symptoms in a person who is ill. 

Homeopathic medicines, known as remedies, are prepared from plants, minerals, 

and animal products. These remedies are highly diluted, often to the point where 

the original substance is no longer detectable. Homeopaths believe that the 

remedies retain a "memory" of the original substance, which allows them to treat 

patients. 

Homeopathy is used to treat a wide range of health conditions, including allergies, 

anxiety, arthritis, and colds. Homeopathic remedies are available in various forms, 

including tablets, liquids, and ointments. 

Questions: 

1. Make notes on the above passage in points.            3 

2. Give a suitable title to the passage.        1 

 

Section B (Writing) 
Q.3 You are Ruchi Dubey. you have found a school bag in the playground of your 

school prepare a notice for school notice board for “lost and found “ column.        4 

Or,  

 Design an attractive poster for ‘Say no to junk food’. 

Q.4 You are Rudraksh Sharma write a letter to your friend Anil informing him about  

your Diwali festival preparation.                                               4 

Or 

You are Shuchita Tiwari residing at 321 Amaltas Complex, Shivaji Nagar, 

Bhopal. Write a letter to the SDM of your area requesting him to put a ban on 

loud speakers during your annual examination.  

Q.5 You have witnessed a train accident. Write a report for a newspaper in about  

120 words about the accident using the following details.    4 

      A.  Bus collides with a train   B.    Location, Time, Date of accident  

C. Casualties and relief   D.    Dead and injured and reactions 

E. Blood donors    F.    Help of local people and high authorities. 
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Or, 

Write paragraph in about 120 words on any one of the following topics:  

1. Festivals of India   2. Importance of English language  

3.  My dream    4.  Value of games 

Section C (Grammar) 

Q.6 Fill in the blanks with appropriate words given in the brackets. (Any five)    1x5=5 

i)  Mohan is......... M. A. of Vikram university. (a, an, the) 

ii)  She did not make......... Mistake in the essay. (any, much, many) 

iii)  When I was at school I........ Never understand physics. (can, could, may) 

iv) ....... I help you? (May, will, should) 

V)  A cat jumped......... the running water. (in, into, by) 

Vi) ……. there is life there is hope. (As soon as, As long as, As if) 

Q. 7 Do as directed. (any five)                1x5=5 

i)  He is too old to cross the river (Rewrite the sentence using 'so that') 

ii)  She knows me.  (Change into passive voice) 

iii)  a) Gopal is my friend. 

  b) He has topped the merit list. (combine the sentence using 'who') 

iv)  As soon as I saw her, I knew there was something wrong".  

(Rewrite the sentence using No sooner than in the place of as soon as) 

v)  He purchased a new car. (change into present continuous) 

vi)  He failed. He did not study well. (combine the pair of sentences using So) 
 

Section- D (Text Book) 

8.  Read the following extract carefully and answer the questions given below. 

 Once upon a time there was a man who went around selling small rattraps of 

wire. He made them himself at odd moments, from the material he got by 

begging in the stones or at the big farms. But even so, the business was not 

especially profitable, so he had to resort to both begging and petty thievery to 

keep body and soul together. Even so, his clothes were in rags, his cheeks were 

Sunken, and hunger gleamed in his eyes. 

Questions: 

(i)  Name the chapter.          (1) 

(a)  Indigo    (b) The Third Level 

(c)  The Enemy   (d)  The Rattrap 



 5 

 

(ii)  What is the antonym of the word 'Petty' from the following ?   (1) 

(a)  small    (b)  of little importance 

(c)  petit    (d)  major 

(iii)  What does the Phrase 'keep body and soul together' mean ?  (1) 

(a)  stay alive    (b)  stay optimistic 

(c)  stay pessimistic  (d)  stay alone 

(iv)  Name the author of this chapter.       (1) 

(a)  Louis Fischer   (b)  William Douglas 

(c)  Pearl S. Buck  (d)  Selma Lagerlof 

(v)  Write the synonym of the word 'gleamed'.      (1) 

(a)  sparkle   (b)  dull 

(c)  dark    (d)  ugly 

9. (A) Read the following extract carefully and answer the questions given below. 

Driving from my parent's home to Cochin last Friday morning. 

 I saw my mother, beside me 

Doze open mouthed her face ashen like that 

Of a corpse and realised with pain 

Questions. 

(i) The poetess is driving on which day?       (1) 

(a) Monday   (b)  Friday 

(c)  Sunday    (d) Saturday 

(ii)  Who is sitting beside the poetess ?      (1) 

(a) her Mother   (b)  her Sister 

(c)  her daughter    (d) her Friend 

(iii)  What is the name of the poem ?       (1) 

(a) Keeping quiet   (b)  A thing of beauty 

(c)  My Mother at Sixty-six (d) A Roadside stand 
 

(B)  Read the extracts given below and answer the questions that follow. 

 The Shokalskiy had managed to wedge herself into a thick white stretch office 

between the peninsula and tadpole Island which was preventing us from going any further. 

The captain decided we were going to turn, around we did, we were all instructed to climb 

down the gangplank and walk on the ocean. So there we were, all 52 of us, kitted out in 

Gore-Tex and glares, walking on a stark whiteness that seemed to spread out forever. 

Underneath our feet was a metre- thick ice pack, underneath that, 180 meters of living, 

breathing salt water. 
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Questions : 

(i) How many students were the part of 'students on ice' programme ?  (1) 

 (a)  52      (b)  54 

 (c) 56      (d)  58 

(ii) What did the captain instruct to do ?      (1) 

 (a) to go and swim    (b) to collect the water 

 (c)  to Climb down the gang plank.  (d)  to walk on the water 

(iii) What is Gore-tex ?         (1) 

 (a)  Tax paid to government   (b)  A Teflon Fabric 

 (c)  Fabric that makes the skin fairer  (d)  Peninsula and tadpole Island 

(iv) Underneath our feet was ________thick ice pack, ?    (1) 

 (a)  a Meter     (b) two Meter 

 (c) three Meter     (d)   four Meter 

10.  Answer the following questions in about 30 words (any 5)     (2x5=10) 

(i) What had been put up on the Bulletin -Board ? 

(ii) What makes the city of Firozabad famous ? 

(iii) Why was Douglas determined to get over his fear of water ? 

(iv) List the places that Gandhi Visited between his first meeting with  

Shukla and his arrival at Champaran. 

(v)      Who, in today's world, is our chief source of information about personalities? 

(vi) Why did the peddler decline the invitation ? 

(vii) What is Sahab looking for in the garbage dumps ? 

11.  Answer the following questions in about 30 words-[any three]        (2x3=6) 

(i) Why has the mother been compared the "late winter's moon ?" 

(ii) What will counting up to twelve and keeping still help us to achieve ? 

(iii)  List the things of beauty mentioned in the poem "A thing of Beauty" ? 

(iv) What was the plea of the folk who had put up the road side stand ? 
 

12.  Answers the following questions in about 30 words-[any two]        (2x2=4) 

(i) What did the Royal infant grow up to be ? 

(ii) Who was Dr. Sadao ? Where was his house ? 

(iii) What does the third level refer to ? 

13.  Answers the following questions in about 75 words [any two]        (3x2=6) 

(i) How did Mr. Hamel pay tribute to the French language ? 

(ii) What could be the reasons for the migration of people from villages to cities ? 

(iii) Write the qualities of a good leader. 
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14.  Write the Answer of any one of the Following questions in about 75 words.     (3x1=3) 

 What is the "sadness" that the poet refers to in the poem" keeping quiet ? 

or 

 What is the 'childish longing' that the Poet refers to ? why it is in vain ? 

15.  Write the Answer of any one of the Following questions in about 75 words.     (3x1=3) 

Why is Antarctica the place to go to, to understand the earth's Present,  

Pastand Future ? 

or 

 What are the ways in which Mr. Lamb tries to overcome his feelings ? 

 

 

-----------00----------- 
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केवल अɷास हेतु नमूना Ůʲ पũ 
Sample Question Paper for Practice only 

हायर सेकेǷरी परीƗा - 2025 
Higher Secondary Examination-2025 

िवषय – िहȽी 
िवषय कोड– 051 
Subject - Hindi 

   
    Total Question  Total Printed Pages             Time      Maximum Marks 
              23                  4            3 hours                   80 

                                                                                               
िनदőश :- 

i. सभी Ůʲ अिनवायŊ हœ | 
ii. Ůȑेक Ůʲ के िलए आवंिटत अंक उसके सʃुख अंिकत हœ | 
iii. Ůʲ Ţमांक  1 से  5 तक 32 वˑुिनʿ Ůʲ हœ | Ůȑेक उप-Ůʲ पर 1 अंक िनधाŊįरत है | 
iv. Ůʲ Ţमांक  6 से 15  तक कुल 10 Ůʲ हœ | Ůȑेक Ůʲ पर 2 अंक िनधाŊįरत है |  शɨ सीमा लगभग 30 शɨ है | 
v. Ůʲ Ţमांक 16 से 19 तक कुल 4 Ůʲ हœ | Ůȑेक Ůʲ पर 3 अंक िनधाŊįरत है |  शɨ सीमा लगभग 75 शɨ है | 
vi. Ůʲ Ţमांक 20 से 23 तक कुल 4 Ůʲ हœ | Ůȑेक Ůʲ पर 4 अंक िनधाŊįरत है |  शɨ सीमा लगभग 120 शɨ है | 
vii. Ůʲ Ţमांक  6 से 23  तक सभी Ůʲो ंके आंतįरक िवकʙ िदए गए हœ | 

------------------------------------------------------------------------------------------------------------------ 

1. सही िवकʙ का चयन कर िलİखए -                                                                                                  (1x6=6) 

   i. हįरवंशराय बǄन की दस खǷो ंमŐ Ůकािशत रचना है – 
    (अ)  मधुशाला       (ब) मधुकलश         (स) िनशा िनमंũण        (द) बǄन ŤȺावली    

      ii. Şंगार, शांत एवं कŜण रस मŐ िवशेष ŝप से पाया जाता है -  
(अ) ओज गुण          (ब) माधुयŊ गुण         (स)  Ůसाद गुण         (द)   अवगुण  

   iii. ‘Ůयाग मिहला िवȨापीठ’ की ˕ापना की थी -  
    (अ) बǄन जी ने           (ब) महादेवी वमाŊ जी ने         (स) जैनेȾ जी ने    (द) रेणु जी ने  
    iv.  शɨ युƵ के Ůकार हœ –  
    (अ)  दो               (ब) चार     (स)  छ:                 (द)  आठ  
    v.’जूझ’ पाठ की िवधा है –  
    (अ) कहानी    (ब) सं˝रण     (स)  िनबɀ        (द) आȏकथाȏक उपɊास  
    vi. समाचार लेखन का Ůवेश Ȫार माना जाता है –  
    (अ) इंटŌ ो को            (ब) बॉडी को        (स)  शीषŊक           (द) समापन  
 

2.  įरƅ ˕ानो ंकी पूितŊ कर िलİखए  –                                                                                               (1x6=6) 

 i.  ‘पतंग’ किवता मŐ मृदंग शɨ का अथŊ -----------------------है | (नगाड़ा/ढोलक की तरह एक बाजा) 

 ii.  सşदय के Ÿदय मŐ İ˕त अ˕ायी भावो ंको --------------------भाव कहते हœ । (संचारी/˕ायी) 

 iii. ‘बाजार दशŊन’ पाठ मŐ --------------------की चचाŊ की गई हœ | (Ťाहको/ंसाšकारो)ं   

 iv. ‘गुŜȕाकषŊण’ एक -------------------शɨ है | (Ɨेũीय /तकनीकी) 

 v.  यशोधर बाबू का तीसरा बेटा ˋॉलरिशप लेकर -------------------चला गया |  (अमेįरका/जापान) 

vi.  रेिडयो नाटक मŐ -----------------------नही ंहोते हœ |  (̊ʴ/संवाद) 

                                                                                 
3. िनɻिलİखत कथनो ंके समƗ सȑ या असȑ िलİखए –                                                                         (1x6=6)       
    i   ‘कैमरे मŐ बंद अपािहज’ किवता मŐ िमिडया पर कटाƗ िकया गया है | 
    ii.  िबɾ सावŊभौिमक होते हœ | 
    iii. धमŊवीर भारती ने ‘काले मेघा पानी दे’ पाठ मŐ वानर सेना का वणŊन िकया है | 
    iv. िवǒापन की भाषा सरल होनी चािहए |  
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    v. ‘अतीत मŐ दबे पांव’ पाठ के आधार पर अजायबघर मŐ तैनात ʩİƅ का नाम मोहʃद नवाज़ था | 
    vi. िनरƗरो ंके िलए मुिūत माȯम बŠत उपयोगी होते हœ | 
 
4. सही जोड़ी का िमलान कर  िलİखए  –                                                                                                 (1x7=7)                                            
               ˑʁ  (अ)                                                    ˑʁ  (ब) 
       i.      बात सीधी थी ंपर                                        (क)  Ŝबाइयाँ  
       ii.      ढोलक की आवाज़                                     (ख)  मुदŘ का टीला  
       iii.     राजभाषा                                         (ग)  िबहारी सतसई   
       iv.     उदूŊ  फ़ारसी छȽ                                       (घ)   गोवा मŐ  
       v.      मुअनजो-दड़ो का अथŊ                                (च)  कोई दूसरा नही ं 
       vi.     भारत का पहला छापाखाना                         (छ)  संजीवनी शİƅ का काम  
       vii.    रीितकाल की Ůितिनिध रचना                       (ज)  सरकारी कामकाज की भाषा  
                                                                             
5. िनɻिलİखत Ůʲो ंके उȅर एक वाƐ मŐ िलİखए  –                                                                                 (1x7=7)                                            

    i.  किव उमाशंकर जोशी के अनुसार बीज िकस ŝप मŐ अंकुįरत होता है ?  
    ii  जहाँ उपमेय को उपमान से भी ŵेʿ बताया जाए, वहाँ कौन –सा अलंकार होता है ?  
    iii. लेखक हजारी Ůसाद िȪवेदी ने कबीर के अितįरƅ िकस किव को अनासƅ योगी कहा है ? 
    iv. िनबɀ िकसकी कसौटी Šआ करता है ?  
    v.  शɨो ंके साथŊक समूह को Ɛा कहते हœ ?  
    vi. यशोधर बाबू सिचवालय मŐ िकस पद पर कायŊरत थे ?  
    vii. घटना˕ल के िकसी खबर के सीधे Ůसारण को Ɛा कहते हœ ?  

 
6.   िȪवेदी युगीन काʩ की कोई - दो िवशेषताएँ/ Ůवृिȅयाँ िलİखए।                                                                         (2)                                         
                                                          अथवा 
      छायावादी काʩ की कोई - दो िवशेषताएँ/ Ůवृिȅयाँ िलİखए। 
                                                          
7.   ‘िदन जʗी-जʗी ढलता है’ किवता मŐ पƗी तो लौटने को िवकल है, परȶु किव मŐ उȖाह नही ंहै | ऐसा Ɛो ं?             (2)      
                                                          अथवा  
     ‘छोटा मेरा खेत’ किवता के आधार पर का̺ य रचना के सȽभŊ मŐ ‘अंधड़’ और ‘बीज’ Ɛा है ? िलİखए | 
 
8.  Ůबɀ काʩ और मुƅक काʩ मŐ कोई - दो अंतर िलİखए |                                                                                (2)                                                                                                                          

                                                           अथवा  
     िवभाव और अनुभाव मŐ कोई - दो अंतर िलİखए |  
 
9.   सांगŝपक अलंकार के लƗण और एक उदाहरण िलİखए |                                                                                (2) 
                                                           अथवा  
      सोरठा छȽ के लƗण और एक उदाहरण िलİखए |  

10.   िहȽी िनबɀ के िवकास को िकतने कालो ंमŐ िवभािजत िकया गया है ? नाम िलİखए |                                            (2)  
                                                            अथवा  
        शुƑ युग के िनबɀ की कोई – दो  िवशेषताएँ िलİखए | 
                                                                                      
11.   महादेवी वमाŊ ने ˢयं व भİƅन के मȯ िकस सɾɀ को नकारा है ? िलİखए |                                                    (2)  
                                                            अथवा 
       ‘पहलवान की ढोलक’ पाठ के आधार पर िलİखए िक ढोलक की आवाज़ का पूरे गाँव पर Ɛा असर होता था ?  
                                                                      
12.  िनɻिलİखत वाƐो ंको शुȠ करके िलİखए -                                                                                                  (2) 

       i. एक चाय का ɗाला लाओ | 
       ii. उसके सामने एक गहरी सम˟ा है |  

                                                             अथवा 
        िनदőशानुसार वाƐ पįरवतŊन कर पुन: िलİखए – 

        i.  मोहन पुˑक पढ़ रहा है |   (Ůʲवाचक वाƐ ) 
        ii. वह भोजन करके िवȨालय जाता है |   (संयुƅ वाƐ) 
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13.   रा Ō̓ भाषा की कोई-दो िवशेषताएँ िलİखए |                                                                                                      (2)      
                                                             अथवा  
        िनɻिलİखत िनपात शɨो ंका Ůयोग करते Šए एक-एक वाƐ बनाकर िलİखए – 
         i. तक           ii. केवल  
 
14.   यशोधर बाबू की प̝ नी समय के साथ ढल सकने मŐ सफल होती है लेिकन यशोधर बाबू असफल रहते है | ऐसा ̋ यो ं?  
        िलİखए |                  (2)                                            
                                                              अथवा 
        ˢयं किवता रच लेने का आȏिवʷास लेखक आनंद यादव के मन मŐ कैसे पैदा Šआ ?  
 
15.  ‘इंटरनेट पũकाįरता’ की लोकिŮयता के कोई –दो कारण िलİखए |                                                                      (2) 
                                                               अथवा  
      ‘िवशेष लेखन’ से Ɛा आशय है ? िलİखए | 
 
16. तुलसीदास  अथवा सूयŊकाȶ िũपाठी िनराला की काʩगत िवशेषताएँ िनɻिलİखत िब̢दुओ ंके आधार पर िलİखए –      (3)      
      i.  दो रचनाएँ      ii.  भावपƗ – कलापƗ  iii.  सािह̝ य मŐ ̾ थान  

 

17. जैनेȾ कुमार अथवा धमŊवीर भारती की सािहİȑक िवशेषताएँ िनɻिलİखत िब̢दुओ ंके आधार पर िलİखए –                (3)      
       i. दो रचनाएँ      ii.  भाषा-शैली  iii.  सािह̝ य मŐ ̾ थान 
 
18. ‘संयम ही सदाचार है’ िवषय का भाव पʟवन कीिजए |                                                                                      (3) 
                                                                अथवा   
      अपने अ̡ ययन के सɾɀ मŐ िपता और पुũ के मȯ Šए संवाद को Ů̝ येक के तीन – तीन वा̋ य िलİखए | 
  
19. िनɻिलİखत अपिठत काʩांश अथवा गȨांश को पढ़कर पूछे गए Ůʲो ंके उȅर  िलİखए -                                        (3)                            

िगįरराज िहमालय से भारत का कुछ ऐसा ही नाता है। 
इतनी ऊँची इसकी चोटी िक सकल धरती का ताज यही। 
पवŊत पहाड़ से भरी धरा पर केवल पवŊतराज यही ॥  
अंबर मŐ िसर, पाताल चरन  
मन इसका गंगा का बचपन  
तन वरन-वरन मुख िनरावरन 
इसकी छाया मŐ जो भी हœ, वह मˑक नही ंझुकाता है।  
िगįरराज िहमालय से भारत का कुछ ऐसा ही नाता है॥ 

 
  Ůʲ  -  i.  उपयुŊƅ काʩांश का उिचत शीषŊक िलİखए। 
            ii.  किव ने सकल धरती का ताज िकसे और Ɛो ंकहा है? 
            iii. पवŊतराज का 'िसर' और 'चरन' कहाँ पर हœ?            

                                                                  अथवा  

    जीवन और जगत को सुखी और शांत बनाने के िलए माधुयŊ से अिधक लाभदायक वˑु और Ɛा हो सकती है? ŵोता 
और वƅा दोनो ंको आनंद िवभोर कर देने वाला यह मधुर भाषण समाज की पार˙įरक मान- मयाŊदा, Ůेम- Ůितʿा और 
ŵȠा- िवʷास का आधार ˑंभ है, इनके अभाव मŐ समाज कलह, ईˈाŊ Ȫेष और वैमन˟ का घर बन जाता है । मधुर बोलने 
वाले मनुˈ का समाज मŐ आदर होता है । मधुरभाषी के मुख से िनकला Šआ एक- एक शɨ सुनने वाले का जी लुभाता है। 
ऐसा लगता है मानो उसके मँुह से फूल झड़ रहे हो।ं मीठे वचन सुनने वाले को ही आनंद नही ंआता बİʋ वƅा भी आȏा 
का आनंद अनुभव करता है । वƅा को एक िवशेष लाभ यह है िक उसके मन की अंहकारी, दंभपूणŊ और गौरवपूणŊ भावनाएँ 
अपने आप ही समाɑ हो जाती हœ। अहंकारी ʩİƅ मधुर भाषी हो सकता है। मधुर वाणी से मनुˈ मŐ नŲता, िशʼता, सşदयता 
आिद गुणो ंका उदय होता है। िजनसे जीवन ŮकाशपूणŊ और शांत बन जाता है । Ţोध उसके पास नही ंआता । मधुर वाणी  
एक अनमोल वरदान है।  

 
Ůʲ –   i.  उपयुŊƅ गȨांश का उपयुƅ शीषŊक िलİखए |  
          ii.  मधुर बोलने से Ɛा लाभ है ? 
          iii. मधुर वचन सुनने से Ɛा –Ɛा ŮितिŢया होती है ? 
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20.    िनɻिलİखत काʩांश का संदभŊ-Ůसंग एवं काʩ सौȽयŊ सिहत भावाथŊ िलİखए -                                                (4)                         

          बŠत काली िसल ज़रा से लाल केसर से  
          िक जैसे धुल गई हो 
        ˠेट पर या लाल खिड़या चाक  
        मल दी हो िकसी ने 
        नील जल मŐ या िकसी की  
        गौर िझलिमल देह जैसे िहल रही हो।                                                       
                                          अथवा 

                 आँगन मŐ िलए चाँद के टुकड़े को खड़ी  
                 हाथो ंपे झुलाती है उसे गोद-भरी  
                 रह-रह के हवा मŐ जो लोका देती है  
                 गँूज उठती है İखलİखलाते बǄे की हँसी 

 
21.   िनɻिलİखत गȨांश की संदभŊ –Ůसंग एवं िवशेष सिहत ʩाƥा िलİखए –                                                             (4) 

छोटे कद और दुबले शरीरवाली भİƅन अपने पतले ओठो ंके कोनो ंमŐ ̊ढ़ संकʙ और छोटी आँखो ंमŐ एक िविचũ 
समझदारी लेकर िजस िदन पहले-पहले मेरे पास उपİ˕त Šई थी तब से आज तक एक युग का समय बीत चुका है। पर जब 
कोई िजǒासु उससे इस संबंध मŐ Ůʲ कर बैठता है, तब वह पलको ंको आधी पुतिलयो ंतक िगराकर और िचंतन की मुūा मŐ 
ठुǭी को कुछ ऊपर उठाकर िवʷास भरे कंठ से उȅर देती है - 'तुम पचै का का बताइ -यहै पचास बįरस से संग रिहत है।'                                                               
                                                                                अथवा  

अगर तीस-चालीस मन गेšँ उगाना है तो िकसान पाँच-छह सेर अǅा गेšँ अपने पास से लेकर ज़मीन मŐ Ɛाįरयाँ बना 
कर फŐ क देता है। उसे बुवाई कहते हœ। यह जो सूखे हम अपने घर का पानी इन पर फŐ कते हœ वह भी बुवाई है। यह पानी गली 
मŐ बोएँगे तो सारे शहर, क˜ा, गाँव पर पानीवाले बादलो ंकी फसल आ जाएगी। हम बीज बनाकर पानी देते हœ, िफर काले 
मेघा से पानी माँगते हœ। सब ऋिष-मुिन कह गए हœ िक पहले खुद दो तब देवता तुʉŐ चौगुना-अठगुना करके लौटाएँगे भइया, 
यह तो हर आदमी का आचरण है, िजससे सबका आचरण बनता है। 
 

22.    सड़को ंकी दुदŊशा पर खेद ʩƅ करते Šए नगर पािलका अȯƗ को आवेदन - पũ िलİखए |                                 (4)                                                                                                           
                                                                           अथवा  
         छाũावास मŐ रहकर अपनी पढ़ाई की संतोषजनक जानकारी देते Šए अपने िपताजी को एक पũ िलİखए | 
 
 23.   िनɻिलİखत मŐ से िकसी एक िवषय पर Ŝपरेखा सिहत सारगिभŊत िनबंध िलİखए –                                                 (4) 

      i.  िवȨाथŎ जीवन मŐ नैितक मूʞो ंका महȇ  
      ii. वृƗ रहŐगे: हम रहŐगे  
      iii. मानव जीवन की Ůगित मŐ क̱ɗूटर  

         iv. पुˑकालय का महȇ  
         v. चंūयान 3: भारत की एक बड़ी उपलİɩ  
 

---------------------------------------------------------------------- 000---------------------------------------------------------- 


